1) It will cost Alida $100 per day in Miami and $60 per day in Jamaica. She has $1200 to spend.

a)Write an equation that relates the number of days, m, she can spend in Miami & the number of days, j, she can spend in Jamaica. 

b) If she stays 10 days in Jamaica, how long can she spend in Miami?

2)  Graph: 4x – 3y = 12                                          

3) Find the slope of the line through (-1,4) and (3, -2).

4) 84x + 21y = 63                                                     

a) Find the slope.                                                                                                            

b) Find the y-intercept.

5) Write the equation of the line with slope 3 through the point (2,-5) in the slope-intercept form.

6) Write the equation in slope-intercept form for the line through (3, 6) and (-2, 4).        

7) Write an equation in slope-intercept form for the line on this graph.




y

                                                              x

8) Two lines are: x + 2y = 6

                            y = 2x + 9                                           

Are they parallel, perpendicular, or neither?

9) Write an equation of the line through (4, -3) that is parallel to: 2x – y = 5.

10) Solve the system by graphing:                            

         y = 2x – 3                                                                            

         y =  -
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11) Solve the system by substitution:

x + 2y = -6

2x – 3y = 16

12) Solve the system by elimination: (Show work)       

       2a + 3b = 38                                                                  

       6a – 5b = 2                                                                    

13)  Identify the system as consistent, 

inconsistent, or dependent.

       8y = 10x - 1

       5y = 4x + 20      

14) Use back-substitution to solve this system:            

       Show work!                                                                   

         2a + b + 3c = 3                                                                        

5b – 8c = 16                                                              

         4c = 12                                                                      

15) Use Gaussian reduction to solve this system: (Show work)

x + y + z = 2

3x – y + z = 4

2x + y + 2z = 3

16) Graph the inequality: 2x + 3y 
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17) Graph to solve the system of inequalities:

x – 3y 
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18) Write a system of 2 equations in 2 variables for this problem: (do NOT solve)

The Math section of a standardized test has 50 questions. You score 4 points for each correct answer and lose 5 points for each wrong answer. Todd answered all the questions & scored 130. 
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19) 3x – z = -10

      2x + y = -4

      3y – z = 5

Solve the above system by Gaussian elimination.
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